Subject: Lesotho Urban/Rural Ns
Posted by hannaheow on Thu, 28 May 2020 22:59:32 GMT

View Forum Message <> Reply to Message

| think there is a typo in 'Lesotho DHS 2014.xIsx' found here:
https://dhsprogram.com/topics/wealth-index/Wealth-Index-Cons truction.cfm

The Analysis N (9402) used in the 'Common' tab is the same as the Analysis N used in the 'Urban’
tab. And the Analysis N (2798) used in the 'Rural’ tab is the same as the value | found for urban
(variable HV025 == 1). Urban+Rural = Common, correct? But this is not the case in the xIsx
document.

Thanks for looking into this!
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